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SSC GD CONSTABLE 2023 FOUNDEI'I_ON_BATGH

" Q.1 A man faces towards north. Turning to his right, he walks 25
metes. He then turns to his left and walks 30 metres. Next, he moves |
25 metres to his right. He then turns to his right again and walks 55 |
metres. Finally, he turns to the right and moves 40 metres. In which
direction is he from his starting point ?
T ATSHT T TG IAL 1 ML gl ATAT IR T EFL, T8 25 HieT Tar
B! T ag (9T T 3T H{E=AT ¢ i< 30 Hiek Irar gl S9F 918, 98 (I
AT T 25 HieT FaT g1 T 6T F 3Ta« ATt L AT g 3T 55 HieX
TAAT g1 3T |, I TS A AT & 3T 40 Hie< Frar gl T8 I+ &M
g a fFa fRar s g?

A. South-

west
B .North-
west
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Q.2 A man walks 1 km to east and then he turns to south and walks
5 km. Again he turns to east and walks 2 km. After this he turns to
north and walks 9 km. Now, how far is he from his starting point? |
@amﬁlrcfaﬁr@ﬂﬁwﬁaw%sﬁ'{ﬁ?{ ZFeroT T AT {EAT g 3
5 fadt w=rar g1 fe @ qﬁﬁﬁtwéﬁtzﬁwﬁwél T
aﬁqawwﬁr@'iwéﬁtgﬁwﬁaw%l A, I AT el fog
q fraaT X 872
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N Q.3 Avika walks 10 km towards north. From there she
walks 6 km towards south. Then, she walks 3 km towards
east. How far is she from her startlng point?

srfaeRT AT T A 10 fFT =<1t 81 92T & 9 <feror i 3 6
et =rerdt g1 T, agllafﬁaﬁ'{3ﬁlﬂﬁﬂmlélagmﬁ

RN Tofg & Tohaelt gL 82

(A) 5 KM
(B) 6 KM

(C) 5.5 KM
(D) 6.5 KM
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Q.4 A direction pole was situated on the crossing. Due to

an accident the pole turned in such a manner that the
pointer which was showing east, started showing south.
One traveller went to the wrong direction thinking it to be
west. In what direction actually he was travelling?

T 9T T fI9T g o 37 T 1T 9m gEeET & FTr O
9 A8 H{E AT o I& sl 3T ST FTA ATAT G T80T shi
A fo@m™ M T AT T T THHAR T Q9T | =9«T

TIAT| T | I (el [T H ITAT F< T AT? (A) NORTH

(B) SOUTH
=2/ (C)EAST
(D) WEST
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NE2().5 Kabul is located 2 km away to the north-west Punjab. Rohtak is
located 2 km in the south-west direction from Kabul. Melghat is
another place and is located 2 km away in the north-west of Rohtak.
Talu is located 2 km away in the south-west direction from Melghat. In
which direction is Talu from Punjab?

FIIA SAL-TH Gorre & 2 Fret g Foura g1 Qgas Freler o <feror-afsm
feam ® 2 foeft &t 8t = o 81 Aeree U i T8 § 3K Ugd® & Sa-

g # 2 fet g FRura g1 a1 Aereme & <terr-afsm feeamr & 2 ffi

Foua 81 T doTe o e feer # 87 (A)WEST
(B)YNORTH EAST
(C)NORTH WEST
(D) SOUTH
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There he turns right and walks 30 m and then he turns right and walks 65 m
and reaches a garden. Here he turns left and walks 8 m. He again walks 25m
towards his left. Then he turns 90° anti-clock wise and walks 8 m. How far is
Jay from his school?

ST A ST AAT L& FHIAT § AT 40 HIET I HT A =T § A 9 T
TEAAT | FEI 9€ T JEAT g MY 30 HieX =rqr § 3% e ag e =T § 37 65
HieT IAT g 3 TH = § Iga9dT gl g7 98 qT0 {EAT g AL 8 HieX AT gl A8

T & I 97T 3T 25 Hie Forar gl e ag 9t & fauda 90° q=ar § i 8 Hiex
FAAT gl T Aqq TFher | fhast gL g7

A.70 M
B.45 M
C.30 M
D. 50 M
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=’ (.7 One evening before sunset two friends Raman and

Arjun we are talking to each other face to face .If Raman’s
shadow was exactly to his left side, which direction was
Arjun facing?

@Qrmﬂgﬂfﬁﬁqg?r?rﬁw T AT A & Th qELH
ATH T 97 F< T g aﬁmﬁwmwﬁi

?ﬁ,a‘raﬁﬁﬁwﬁmﬁaﬁrsﬁa qT?

A.WEST
B. EAST
C.NORTH
D. SOUTH




N (.8 One morning after sunrise, Suresh was standing

facing a pole. The shadow of the pole fell exactly to his

right. To which direction was he facing?

T Gag AT & 913 G T @FH i 3T g H<h @7 AT

?ﬁw%ﬁw@ﬁﬁwﬁl 3T @ ey far it
qT?

C. SOUTH
D. DATA INADEQUATE
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Q.9 Early morning after sunrise, Karthik was standing infront of his
house in such a way that his shadow was falling exactly behind
him. He starts walking straight and walks 5 metres. He turns to his
left and walks 3 metres and again turning to his left walks 2 metres.
Now in which direction is he from his starting point?

qag QAT F TS FI(AH NI T & qTH 59 q<g @sT IT & Ieht
Wéﬁ?@*wrw%tﬁ@fw@'@ @ﬁmawgww%sﬁ'{s
Iﬁawélagwwwéskmﬁawéskﬁﬂﬁw
AT EFHT 2 HITT FAAT g1 T I8 3Tq+ L foig & foher faer # g2

AWEST
B. NORTH-EAST

C. EAST
D.SOUTH-WEST
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Q.10 Statement: &I

N is to the north-west of O .N, O . & ITC-Uf=T H g
M is to the north of N. M, N . F 3T<H g

L is to the south-west of P. L, P . & Sferor-afsa § §
Ois to the westof P. O, P . F qf=\ ¥ §
Conclusion:;fasHw:

(I) M is to the north-west of P. M, P . & STC-af=®w & g
(I) L is to the south-east of N. L, N . % Sferor-qa & §
A. Only | follows
B. None follows
C. Both | and Il follows
D. Only Il follows
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=~ (Q.11Statement; FA:
T is to the north-west of P. T, P . & ST<-9f® & §
Kistothe eastof P.K,P. % @ d &
M is to the south-east of K. M, K . & &f&ror-q9 & 8
Jistothe eastof M .J,M.F9d ¥ .
Conclusion; fAshy:

(I) P is to the north-west of J. P, J . & STAL-Uf=W ¥ g
(1) J is to the south-east of T. J, T . & Ifa0r-q9 # &

A. Only Il follow
B. None follows
C. Only | follow
D. Both | and |l follows




Q.12 If South-East becomes North, North-East becomes
West and so on. What will West become?

Ff fEror-ga I g SATAT §, AT SA-YA T a9 SI1aT g i
Tt 98 afsw Fv e ?

A. NORTH -EAST

B. NORTH - WEST
C. SOUTH - EAST
D. SOUTH-WEST




~> Q.13 Rahul put his timepiece on the table in such a way
that at 6 P.M. hour hand points to North. In which direction
the minute hand will point at 9.15 P.M. ?

A 7 AYAT TST I I I T dLg @7 o 919 6 F901 5 i
s ST hl T ZLATA FLdl gl Ta 9.15 =t fame &t g5 v

29T 7 9T G ?

A.SOUTH - EAST
B. SOUTH

C. NORTH

D. WEST
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" Q.14 A man is facing north-west. He turns 90 DEGREE in
the clockwise direction, then 180 DEGREE in the
anticlockwise direction and then another 90 DEGREE in

the same direction. Which direction is he facing now?

T 1<k T @ SAL-TTH i AT gl T8 90 =T sferomaa fa |
H ear g, T 180 fouft amwmas faam # six fhe 90 f=fr st |

T § =aT 81 31« 98 fone fem &t ik S+ @ g7

A. SOUTH

B. SOUTH -WEST
C. SOUTH - EAST
D. EAST
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Q.15 Shyam travels 7 km. North, then he turn to his right
and walks 3 km. He again turns to his right and moves 7
km forward. Now in which direction is he from his starting
point?
e7TH 7 Tt It AT @1 S, TR 98 JuHT €S A qEaT 8
3 3 foft serar 81 a8 TR & SraT a1E X gear g X 7

FRdT ST SZaT g1 A g T T g o fohe fRer & g7

(A)North
(B)South
(C)East

(D)West
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N/ .16 Khan moves 8 km from East to West direction, then he
turns to his right and moves 2 km. Again he turns to his right |
and moves 5 km. In which direction is he from his starting |
point?

gT qa & qiw e fi o< 8 Foret wrerar €, e ag ot <18
T AT g X 2 FrdT =orar 81 98 Fhe & 3=t <15 A q=ar g
ST 5 TRt F<1aT g1 98 ra« YT foig & fahe feer 7 872

(A)South-East
(B)North-West
(C)West
(D)North
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" Q.17 A person start walking from a point and moves 1 km towards
North direction, then he turns to his right and moves 3 km. Again
he turns to his right and moves 5 km. In which direction and how
far is he from his starting point ?

T A<k Uah fag & IoT F AT g A< 1 Fhdt I fRm it &%

YT IS AT H{EAT
oo & 3T faaet 3T 872

(A)4 km North
(B)5 km North-East
(C)4 km East
(D)5 km South-East
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Q.18 One evening before sunset Rekha and
Hema were talking to each other face to face.
If Hema’s shadow was exactly to the right of
Hema, which direction was Rekha facing ?

T ST GATET & Tgo L@ ST /T TH-qaL &
SATHA-TTH qTT L Tt T | TF< AT T JAT AT
% 3t <13 < off, a7 @1 &1 7@ e fom & 977?

(A)North

(B)South

(9] ==K

(D)Data is inadequate
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N (.19 One morning after Sunrise Mohan and Gaurav were
standing opposite to each other. Mohan's shadow fell
exactly on his left. Toward which direction does Gaurav
facing?

U g QAT F AR AT M IMA TH @R F qEAA @8 A1 |
HIg T FTAT Stk I ST T T T 1 @ Foher fam &t

A 22

(A)South
(B)North
(C)West
(D)Can't be determined

e




=2 Q.20 Rahul is facing East direction. He turns 90DEGREE
in anti -clockwise. Then he turns 180DEGREE clockwise.
In which direction is he facing now?
g T @ I3 <97 T X g1 98 a1 (<o 7 90 f==ft
THAT g T ag 2ferommaa feer # 180 =it war 81 31« Sa=
e e feer H 872

(A)South
(B)West
(C)East

(D)North
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